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PHYSICS

The transition from the state n=3ton=11ina

hydrogen like atom results in ultraviolet radiation.

Infrared radiation will be obtained in the transition

from :

H4—>2 2)4 -3

B3)2->1 @3->2

For transistor in action region :-

(a) Base, emitter and collector regions should
have similar size and doping concentrations

(b) The base region must be very thin and lightly
doped

(c) The emitter-base junction is forward biased
and base-collector junction is reverse biased

(d) Both the emitter-base junction as well as the
base collector junction are forward biased.

Which one of the following pairs of statements

is correct ?

(1) (a) , (b) (2) (b), ()

(3) (©, D (4) (), (a)

If a bimetallic strip is heated, it will :-

(1) Bend towards the metal with lower linear
thermal expansion coefficient

(2) Bend towards the metal with higher linear
thermal expansion coefficient

(3) Not bend at all

(4) None

Two charges q, and g, are placed 30cm apart, as

shown in the figure. A third charge q; is moved

along the arc of a circle of radius 40cm from C

to D. The change in the potential energy of the

ds g
system is A e k, where k is :-
0
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TSI & A frelt T § n = 3 sTeRen @

n =1 STaEe H TehHl H YY1 fafeh ol ot Seasiq

B | 1, ST AT H STaTTh fRTon o1 Sedsie 2rm,

Ffe T Bl

(H4—>2H @24 3397

3)2—>1% 4)3 >24#

qiha staeen § gifere & fad -

(a) 3R, Scasich IR HUTEE &A1 1 UM STHR
3R 9UM HIEA Wigdl gl =ed |

(b) YR & 9gd Uen & 3R w1 mied &
=rfed

(¢) ScEich—3MYR GfY 71 sTafad iR SMUR-Tesh
Hfy-gve arafad e+ =1fed |

(d) SaSIsh- 2R WY 3R uR-guTes iy gHi
B o Srafed B = |

frafafed wo & o § 9 &F 9 3 § 2

(1) @), (b) 2) (), (©)
3)©, @ @ @, @
fyonfier TEt ) T FO W TE -

(1) % (T ST Y9R T[UE 6l TF TS Sl
?

(2) =3 T S FER % & T T St
§

(3) forsht ot foem & & gt

(4) 7 9 =¥ T

79 a1 1 feem STgaR 1 sTewl q 31K q, 1 TER

30cm T T T @1 | Tk e 3769 g, &1 40cm

o & 9d &t 9" & T fog C A g D @&

o S T ¥ 39 T @ frer b feafas st A

q;
RIChE| Fiss k & < k 1 WF B ;-
an'-
y
40cm \\
aQ a4
A 30cm B D
(1) 8q, (2) 6q,
(3) 8q, (4) 6q,
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10.

The vector sum of two forces is perpendicular to
their vector differences. In that case, the forces :—
(1) Are equal to each other.

(2) Are equal to each other in magnitude.

(3) Are not equal to each other in magnitude.
(4) Cannot be predicted.

The half life of a radioactive nucleus is 50 days.
The time interval (t, —t;) between the time t, when

2 1
3 of it has decayed and the time t; when 3 of

it had decayed is :-

(1) 60 days (2) 15 days

(3) 30 days (4) 50 days

The following figure shows a logic gate circuit
with two inputs A and B and the output Y. The
voltage waveforms of A, B, and Y are as given:-

5 v
AL L—
Bl—O
lgly

1
Y 0—

t1 2 t3 4 tS 6

The logic gate is :-

(1) OrR (2) AND

(3) NAND (4) NOR

A particle executes simple harmonic oscillation with
an amplitude a. The period of oscillation is T. The
minimum time taken by the particle to travel half
of the amplitude from the equilibrium position is :-
(1) T2 (2) T/4 (3) T/8 4) T/12
An electron moves in a circular orbit with a
uniform speed v. It produces a magnetic field B
at the centre of the circle. The radius of the circle

is proportional to :-

foop ot af
Mg W5 )y~
An observer moves towards a stationary source
of sound with a speed 1/5th of the speed of sound.
The wavelength and frequency of the source
emitted are A and f respectively. The apparent
frequency and wavelength recorded by the
observer are respectively :—

B
(3) ~

{1y 125 124 {2y 121, A
(O, L2, (4) 0.8f, 0.81
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10.

A el 1 e 9 S R S e
Wﬁﬂﬁﬁ =

(1) 91T Th T & TR

(2) Sl ST IR TH TER & SRR )

(3) =l 1 Ui Tk g SR e § )

(4) 9 & SR H £ Fe GIG T |

ot ¥fean afera i =t o1g 3y 50 feA &1 4,

sﬁaﬁ‘% Wiﬁ&iﬁlﬁ@ﬁ@mtz,ﬁmi T

% «fad 81 & I t, , & 0 9 TUd

(t, — t;) BN :-
(1) 60 fe=1 (2) 15 faa
(3) 30 fe= (4) 50 f&a

fo=r § aife s g uftey # fewmen T & fowd A
dRBATRw R Y w ffa®1 A, B3Ry =1

Sieedl a1 ®9 A foar T § -
g v
A1— |
B 1~ |
rigipll
vo—o | H
PR A A A
I Wfha R % :-
(1) OR (2) AND
(3) NAND (4) NOR

T U1 A a % 919 I Al Srer Ll 2
T SICH el T &1 T8 H1 6l ST =T STaeen
Y o &t ot S8 =e § o Sren <A 99
BT -

()T  @)TA BT (4 T/12
Teh SO TR 916 v § U gt el 8 Tfaas
T SH RV T & &5 W TR &5 B FH Ll
T1 99 &t B gEard -

B B
) \/%ﬁ (2)%ﬁ @ (4)\/;ﬁ

T &7 T fer wafq 9 &t &R @ =9 &1
1/5 =t | = W g1 Hid 9 scatstd aveed ik
agfa wH: A 3R &1 Yersh g G e S
agfa ok TTeed HH: T i

(1) 1.2f, 1.2A

(2) 1.2f, A

(3) £, 1.21

4) 0.8f, 0.8\
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11.

12.

13.

14.

15.

16.

A truck travelling due north at 20m/s turns west
and travels at the same speed. The change in
velocity will be :-

(1) 40m/s N-W (2) 202 m/s N-W

(3) 40m/s S-W (4) 202 m/s S-W

(a) Centre of gravity (C.G.) of a body is the point
at which the weight of the body acts.

(b) Centre of mass coincides with the centre of
gravity if the earth is assumed to have
infinitely large radius

(c) To evaluate the gravitational field intensity
due to any body at an external point, the entire
mass of the body can be considered to be
concentrated at its C.G.

(d) Theradius of gyration of any body rotating about
an axis is the length of the perpendicular dropped
from the C.G. of the body to the axis of rotation.

Which one of the following pairs of statements

is correct ?

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (d) (4) (d) and (a)

Two batteries and two condensers are connected as

shown in the figure. The charge on 2 pF capacitor is:-

3uF
18V—=— —__-13V
2pF
Il
11
(H6pC  (2)20uC (3)25puC  (4) 48 uC

When 92U238 changes into 8szZOG, then the number
of o and B-particles emitted are :-

(1) 6 and 6 (2) 8 and 8

(3) 6 and 8 (4) 8 and 6

An ideal gas heat engine operates in a Carnot cycle
between 227°C and 127°C. It absorbs
6 kcal at the higher temperature. The amount of
heat (in kcal) converted into work is equal to :—
(1) 4.8 (2)3.5 3) 16 4) 1.2
Twoidentical piano wires, kept under the same tension
T have a fundamental frequency of 600 Hz. The
fractional increase in the tension of one of the wires
which will lead to occurrence of 6 beats/s when both
the wires oscillate together would be :-

(1) 0.01 (2) 0.02 (3) 0.03 (4) 0.04
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20m/s 1 =11 § I 1 AR 71T Ll g Tk Th
feam Hi 3R g € T THAE = | T B
T 9§ uftads & -

(1) 40m/s N-W (2) 2042 m/s N-W

(3) 40m/s S-W (4) 20+/2 m/s S-W

(a) ToFEl a5 =1 o &5 (C.G.) 9% fag & 7&f
TR 3H o] HT WR FHE B S

(b) 9ot 1 = &t 9ga A AR W
T T SN H% 31 & s HTdt 2
gl

(c) Tt o & R forelt sy forg W &
& ! dieldl 1 AH 4 & & a3 36 a5
% THgul S I IHS [EA s T higd
A ST Fehdl T

(d) et o1er & 9t oA Xl g8 fordlt asg =t
qfywo 5, 95 & TE 5 o YO 378 T
Tl T o 1 oS

frafafed gwedl & g7 | | ®H @1 3h

T7?

(1) (a) 3R (b) (2) (b) 3R ()

(3) (¢) IR (d) @) (d) 3 (a)

Fesgar, <1 sefEi qor 1 WenfEl & Sl T R

2 uF & Wil o STaeT 8hm -

I1
1T

3uF

18V—=— =13V

2uF
Il
]

()6 uC  (2)20 uC  (3)25 uC  (4) 48 uC
wo ifEm U fesfed gt e  Po™* #
e T © T Sedreid o T P B BT HEAT F:-
(1) FH: 6 7T 6 (2) HHST: 8 T4 8
(3) =TI 6 AAT 8 (4) hHRT: 8§ AT 6
T eyl 9 31§54 wMi-=s § 227°C &R
127°C & &= %14 I €1 98 91 Seal a1d W
6 kcal ST T 0T AT § | HE H uftafdd s
1 AT (keal ) BT :-

(1) 4.8 ()35 (3) 1.6 4) 1.2

T geEw fr@mT (piano) & TR w1 O o THA §
SR SHHTAA T ¥ | §701 9 219 600 Hz ¥ | foeit
T R & @ & f=eres gf = gl afe 99
AR & Teh WY I hid W 6 fawig gfq Jshvs
T -
(1) 0.01

(2) 0.02 (3) 0.03 (4) 0.04

www.aviral.ac.in




17.

18.

19.

20.

21.

22,

An engine pumps water through a hose pipe. Water
passes through the pipe and leaves it with a velocity
of 2 m/s. The mass per unit length of water in the
pipe is 100 kg/m. What is the power of the engine?
(1) 800 W (2) 400 W

(3) 200 W (4) 100 W

The primary and secondary coils of a transformer
have 50 and 1500 turns respectively. If the
magnetic flux ¢ linked with the primary coil is
given by ¢ = ¢, + 4t, where ¢ is in webers, t is
time in seconds and ¢, is a constant, the output
voltage across the secondary coil is :

(1) 30 volts (2) 90 volts

(3) 120 volts (4) 220 volts

A network of four capacitors of capacity equal to
C,=C, C,=2C, C;=3C and C,=4C are conducted to
abattery as shown in the figure. The ratio of the charges
on C, and C, is —

G,
==, (o —

C,

] 1

11

| I—
\Y
(D 1 2 = (3) > (4 =
4 ) 3 22 ) g

The velocity of electromagnetic wave is parallel to
(D) BxE (@ ExB (GE @B

A converging beam of rays is incident on a
diverging lens. Having passed through the lens the
rays intersect at a point 15 cm from the lens on
the opposite side. If the lens is removed the point
where the rays meet will move 5 cm closer to the
lens. The focal length of the lens is :-

(1) 5 cm (2) —10 cm

(3) 20 cm (4) -30 cm

A cylindrical metallic rod in thermal contact with
two reservoirs of heat at its two ends conducts an
amount of heat Q in time t. The metallic rod is melted
and the material is formed into a rod of half the radius
of the original rod. What is the amount of heat
conducted by the new rod, when placed in thermal
contact with same two reservoirs in time t:-

Q Q Q

(1) = @ 7 L 4 2Q
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Teh 39, Th T & 7 (IS I189) & I 99 il
T I UTST R S € SR 2 m/s & O § e
fererar &1 Wz H Wid 3oR1E e 9 o geEe
100 kg/m. ® | 59 =t 9Ifs fRat & 2

(1) 800 W (2) 400 W

(3) 200 W (4) 100 W

Teh TTEHRER & wiafies 3R fgdias |oed! §
HT & HAMER 50 AT 1500 € | wrufas
FISA! H T FrIeh 19 FAFH ¢ = )+ 4t B
= Bl & Wafe ¢ IR H T, T t hve |
T IR ¢, T Fraais B fgdras wueet & g
Eﬁ‘@?ﬂ’@"ﬁ §=

(1) 30 dree (2) 90 dree

(3) 120 dree (4) 220 e

39 foet ® fa@m & e1g®y C=C, C,=2C, C,=3C
#R C,=4C wiftarsi & wenfeh & & o @
SIS T ¥ 1 C, 3R C, W & AR 1 AT
2T —

C,
=y =
C,
[
L
Y
A R A
my @7 By W
o g T &1 a7 7 & HERR A e
(DBxE @ExB @GE @B

TeRTel 1 T At foreor 4= foRdt stoardt o
TR Tafad B €| o § TS o GYEd, WehT¥l i
ol o & T @i, SHE 15 cm 90 W, T TN
1 gfeese HLd (1) 1 afg oF a1 5 e
ST o fortolt =1 gfieeed fog T | S cm SR I
(i) & ST 3, /1 ot e gl

(1) 5 cm (2) —10 cm

3) 20 cm (4) =30 cm

Hq 1 T JoRR B 794 31 ol W S e
el & A Ts 8 T a8t 9F § Q el
1 =T LT & | 39 TS 1 T ST T 3
1 ool ¥ AR 30 T b R s e e e
Ty | W@ W o, 39 B g ¢ 9 H e e
foraet Bt -

vl 0% o

4 2Q
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23.

24,

25.

26.

In the circuit shown, if a conducting wire is
connected between points A and B, the current in
this wire will :-

{ 1]}
\Y
(1) Flow from A to B

(2) Flow in the direction which will be decided
by the value of V

(3) Be zero
(4) Flow from B to A

A drum of radius R and mass M, rolls down
without slipping along an inclined plane of angle
0 . The frictional force —

(1) Decreases the rotational and translational motion
(2) Dissipates energy as heat

(3) Decreases the rotational motion

(4) Converts translational energy to rotational energy

Water is flowing continuously from a tap having
an internal diameter 8 x 10-3m. The water velocity
as it leaves the tap is 0.04 ms-1. The diameter of
the water stream at a distance 8 x 10-! m below
the tap is close to :-

(1)9.6 x 103m
(3)0.8 x 103 m

From a circular disc of radius R and mass 9M, a

(2)3.6 x 103 m
(4) 6.4 x 103 m

R
small disc of mass M and radius 3 is removed

concentrically. The moment of inertia of the
remaining disc about an axis perpendicular to the
plane of the disc and passing through its centre is:-

(1) MR2 (2) 4MR2

4 40 .,
3) —MR? 4) —MR?
3) 9 4 9
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23. o ¥ femm 1o ufuy, § 9f w = ar g1
A 3R B fawgsii = Siigl 9g, @ 39 ar # yerfed

AT :-
A
1Q 30
B
1
\Y
(1) A § B & =
(2) F1 = fewn <1 ol v w1 7E
(3) I 2Rl
(4) B ¥ A & It

24. 5= R R s=m@ M &1 g9 faa feaa
0 H F A 90 W FEF W@ Bl THY
gl —

(1) o o TR Tfd R @ 2

(2) il = oH & ®9 H 959 W@ 8l

(3) ¥oi7 Ifd &1 %7 @7

(4) TAHIR Sil b1 oI Seil H 9¢A W@l g

25. eT=itsh oA 8 x 10-3 m oI Weh 2iet o 9l
TR YaTfed & W&l §1 S & g S | anel
ST §, U1 T AT 0.04 ms-! ®1 A B A=
8 x 10-!m & I T I FI ¥R H =M 56D
AT R :-

(1)9.6 x 103 m (2)3.6 x 103 m
(3) 0.8 x 103 m (4)6.4 x 103 m
26. R f5=a1 i 9M s=au9 &1 ©* ferw 4,

% =1 w8 M soHH i U Bt feth 9ol 'Y

g Fe X T ot T 7| 9N o= 9 H SE
ST, 36 T & e iR 39 B o BT
T et 3187 & 9Rd: BN ;-

(1) MR2 (2) 4AMR2

3) %MRQ ) ?MRZ
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27.

28.

29.

30.

31.

A lens having focal length f and aperture of
diameter d forms an image of intensity I. Aperture

d
of diameter 5 in central region of lens is covered

by a black paper. Focal length of lens and intensity
of image now will be respectively:-

L

f
1) — and
()2 >

|
f and —
(2) fand 2

33f d 4) f d31
_aIl —_—
OF @) fand

=
2

The velocity v of a particle at time t is given by

b
v=at+ Tea" where a, b and ¢ are constants. The

dimensions of a, b and c are respectively:-
()LT2, Land T (2) L2, T and LT?

(3) LT2, LT and L (4) L, LT and T2

The equation of state for 5g of oxygen at a pressure
P and temperature T, when occupying a volume
V, will be :—

(1) PV =5RT (2) PV = (5/2) RT

(3) PV = (5/16) RT (4) PV = (5/32)RT
where R is the gas constant.

Work done in increasing the size of a soap bubble
from a radius of 3 cm to Scm is nearly (Surface
tension of soap solution = 0.03 Nm-1) :-

(1) 2n mJ (2) 04 m ml

(3) 4t mJ 4) 0.2t ml

The additional kinetic energy to be provided to
a satellite of mass m revolving around a planet of
mass M, to transfer it from a circular orbit of radius
R, to another of radius R,(R, > R,) is :-
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f WIehE g 3R d S & g aTell T o, il
I &1 U gfdafes oA 81 &9 & S5 96 8

d N
5 = % B i HIcl HITS A TF A1 STl

21 AT 1w g qun gfafam &Y dgar o
ShHRI: :-

f I I
1) el (2) f R

3f I 31
o hy 3R 3 ) f 3t 3

g9 t W UH FH B AT v GHIEHIO

v=at+ % g T s & <7ef a, b &R ¢ e

gl a,baﬁ'{cﬁﬁﬁlﬁfﬁqﬂﬂﬁﬁ‘ﬁ:—
(HLT2 LRT (2) L2, T 3R LT?

(3) LT2, LT 3R L (4) L, LT 3R T2

5 T SfeFETS 1 g P, aqEH T 2R emEad V
T\ TEHT ST GHIFHTO B -

(1) PV = 5 RT (2) PV = (5/2) RT
(3) PV = (5/16) RT  (4) PV = (5/32)RT
Safer R T faaie §

T HIEA & Fadel Fi 1941 Fl 3 cm T FGRRT Sem
& T o o e T © : (TeA & e
gs3 a1 = 0.03 Nm!) :-

(1) 2 mJ (2) 0.4 © mJ

(3) 4 mJ (4)0.2 T mJ

m SSIHMH h1 Teh 39UE, fordft M g8 & Us i
9ftear R, 1= it it en § X @I 7| 55!
e & B & R, w0 & fa¥ (R, > R,), TR
I & S arelt sAfafis Tfast et 2 -

1 1
M G‘“M(E‘R—J

1 1
2) 2GmM (R— - R—J

1 2

(3) leM L,_i
2 R, R,

1 1
M| —-—
w (5]

1
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32.

33.

3.

35.

36.

37.

Curie temperature is the temperature above which:-
(1) Paramagnetic material becomes ferromagnetic
material.
(2) Ferromagnetic material becomes diamgnetic
mateiral
(3) Ferromagnetic material becomes paramagnetic
material
(4) Paramagnetic material becomes diamagnetic
material
The Earth is assumed to be a sphere of radius R. A
platform is arranged at a height R from the surface
of the Earth. The escape velocity of a body from this
platform is fv, where v is its escape velocity from
the surface of the Earth. the value of f is :-
1 1 1
M2 @ 7z 93 @ 3
One mole of an ideal gas at an initial temperature
of T K does 6 R joules of work adiabatically. If
the ratio of specific heats of this gas at constant

5
pressure and at constant volume is 3 the final

temperature of gas will be :-

(H(T-24)K 2)(T+4K
B3)(T-4HK 4)(T+24)K

A certain block weight 15 N in air. It weight
12 N when immersed in water when immersed in
another liquid it weighs 13 N, the relative density
of the block is :-

(15 (2) 12 3) 15 (4) None
A student measures the distance traversed in free fall
of a body, initially at rest in a given time. He uses
this data to estimate g, the acceleration due to gravity.
If the maximum percentage errors in measurement
of the distance and the time are €, and e, respectively,
the percentage error in the estimation of g is :-
(1) e; + 2e, 2)e  +e,

3) e —2e, (4) e, — ¢

A galvanometer of resistance 50Q is connected
to a battery of 3V along with a resistance of 2950Q
in series. A full scale deflection of 30 divisions
is obtained in the galvanometer. In order to reduce
this deflection to 20 division, the resistance in
series should be :-

(1) 605002 (2) 4450€2
(3) 505002 (4) 5550€2
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35,
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37

FA A9 TE A9 A 7| e FW -

(1) 3A=HIT Uil dieg=Hg g ST
gl

(2) degm®id yge yfagrsia & A
gl

(3) AEETERI TRIY ARG B ST
gl

4) sqgrHa gl gfagmsia g S
gl

A1 S & T geat R 5= &1 us Tiien §1 geat

e ¥ SO R W TF @IEHHE &m0 741 §1 39

wiewd § fordt fie w1 qelrEq 3 fv ¥ STafe gedft

T U 3He qATdd A H1 HAH v ¥ f w1 HE

RIS

1 1 1
(1) 2 (2) N 3) P 4) r
frer T qo feer s 4 fafyrse somed &

g STIT ATl Ueh 3T5Y! 19 1 U Uit S50 ThH

¥ 6R 5@ M &I 2| AfE = w1 yrfeae @
T K =, @ 39eh1 A9 a9 & -

M T-24K 2)(T+4 K
3 T-4K @) (T+24) K

T scleh TorehT g B 9R 15 N & iR 519 39 Ut
H garan e € o THeRT 9K 12 N 2l § 3R 5 39
ot o1 9 T garan Sar 4 $HHT 9K 13 N 3
T I =oifeh ol WIS Scel 1 HIF Bl © :-

(15 (2 12 3)15  (4) ®E =
T 95 e H faury oraen # ¥ uw fomneff
TEAIgEs Rt g gr foheft el 13 v 8
1 T G T A9 & TR SHHT STANT [E ool
'g' %1 A T4 LA H A ¢ | A G A T
A H Aferehaw wfaem qfe HA: e, 3R e, T @,

g 1 TH I & H gfoe Ffe 2 .-
(1) e; + 2e, 2)e +e,
(3) e; - 2e, (4) e; — ¢

50Q gfadie & T 9T w1 3V &7 A |
39 e ST A § fe 2950Q &1 ufiy 399
gofiea § ST ¥ 1 39 frufa # ywmrdt § 30
g HT g A w1 fadge F@ 71 fady
F1 20 99T &1 B & foad dviiem § gfady
&1 B B i
(1) 6050

(3) 5050Q

(2) 44500
(4) 55509
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38.

39.

40.

41.

42.

Power dissipated across the 8C2 resistor in the
circuit shown here is 2 watt. The power dissipated
in watt units across the 3 resistor is :-

10 3Q
— W —WW—
] [ L
AV‘V‘V‘V"
8Q
(1) 2.0 210
(3)05 )30

If a ball is thrown vertically upwards with speed
u, the distance covered during the last ‘t’ seconds
of its ascent is :—

1
(1) ut @ et

(3) ut — %gt2 (4) (u + gt

A Young's double slit experiment uses a
monochromatic source. The shape of the

interference fringes formed on a screen is-
(1) hyperbola (2) circle
(3) straight line (4) parabola

For shown situation of two dipoles the nature of
forces between them are :-

— — e 4—
— — — -
P, P P4 P>
0y (ID)

(1) attraction, attraction

(2) attraction, repulsion

(3) repulsion, repulsion

(4) repulsion, attraction

Two particles A and B of equal masses are
suspended from two massless springs of spring
constants k, and k,, respectively. If the maximum
velocities, during oscillations are equal, the ratio
of amplitudes of A and B is-

M)k, /k, @) ky/k,
3) ik, 7k, ) ky/k,
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38.

39.

40.

41.

42.

faz # femm o 9ftgy & 8Q) & gfadiy § wife a9
2 9re &1 g1 3Q & gfaiy § vifth 29 &1 7 9
SRS H BT :-

10 3Q
— AW —AWW—
=l i1
(1) 20 210
(3)05 )30

Ifg Teh Tig whl SHeaer foen § SRl SR u Ia ¥
ThepT ST &, 79 SAfeshad 38 I 9= 9 ugel Aty
t TSl | el T g B o

1

(1) ut 2) Egt2

3) ut - %gt2 (4) (u + git

77 & foet fg-fere 9m & uhavl yemen |id 1
IYAN fohan ST €1 0 W S SAfae R hi
i 8-

(1) Afquae™ (2) g4

(3) T @ (4) TWaed

31 fgyar =1 <fifa feufa & fore s <= o @@
EGEIR EAL RS

@ an
(1) TSI, TR
(2) ST, giaersur
(3) wfcertir, gfqersion
(4) wfcertior, TRt

THA FSFHM % &1 F9 A 9B, k, 9 k, 9 Frrdes
et <1 gEER fa & eewE T ¥ | A FEE
& SR SH1 Hil & Afehae T HHH E, @A 9
B & 3Tl T STUM B -

(D) Jk, 7k, (2) ky/k,
3 Jk, 7k, (4) ky/k,
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43.

45.

V,, = V,sinot

The work functions for metals A, B and C are
respectively 1.92 eV, 2.0eV and 5eV. According to
Einstein's equation, the metals which will emit photo
electrons for a radiation of wavelength 4100A is/are:-

(1) None

(2) A only

(3) A and B only

(4) All the three metals

A particle moves along a circle of radius

20
[?j m with constant tangential acceleration. If

the velocity of the particle is 80 m/s at the end
of the second revolution after motion has begin,
the tangential acceleration is :—

(1) 40 ms
(2) 640 T ms>
(3) 160 © ms™
(4) 40 T ms™

For a given circuit output voltage across load
Resistance will be :-

|

Vo
2) P\ S %

(3) Zero
(4) None of these
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43.

45.

V., = Vsinot

= argefi A, B 3R C & FTd%e HH{ER
1.92 eV, 2.0 eV 3R 5eV T |STET=IEA THiH &
MR W 4100A weed =) faferzor &1 g9 w3
T AR T SedsiA BT ;-

(1) fordt emg @ off

(2) % A 9

(3) F9@ A IR B |

(4) |eft T emgedi &

T HU THTHH T3 T @ 9§ Tk g et

e [?)m%,ﬁ{qw%lﬁrmw@m

Fh I & T FEhL A & G AT TR 9
80 m/s B a1 €, @ T3 IEH o0 T °H
B -

(1) 40 m/s?
(2) 640 © m/s?
(3) 160 © m/s?
(4) 40 m m/s?

Tu T ufuy & fau e gfaliy & o = frfa
e B -

|

@) T/\ AN\ N\,

(3) A
(4) TTH 9§ T T
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46.

47.

48.

49,

50.

51,

CHEMISTRY

Select the incorrect match :-
(1) O-nitrophenol > P-nitrophenol = Vapour pressure
(2) O-nitrophenol < P-nitrophenol = Boiling point
CH,-OH CH,-OH
= |
CH-OH = Viscosity

|
CH,-OH

|
(3) CH~OH

(4) H,0 < HF = Boiling point

Calculate the enthalpy change for the reaction,
H, + B,— ZHF

given that

Bond energy of H-H bond = 434 kJ/mol

Bond energy of F-F bond = 158 kJ/mol

Bond energy of H-F bond = 565 kJ/mol

(1) 538 kI (2) -538 kJ

3) 27K (4) =27

The cause of water pollution is due to :-

(1) Micro-organisms (2) Organic wastes

(3) Pesticide (4) All of these

The ratio of velocity of electron in second orbit
of He* to third orbit of B* is :-

3
ey @3

W WL

% 4 2
3) “) 3
In the closest packing of atoms, there are :-

(1) One tetrahedral void and two octahedral voids
per atom

(2) Two tetrahedral voids and one octahedral void
per atom

(3) Two of each tetrahedral and octahedral voids
per atom

(4) One of each tetrahedral and octahedral voids
per atom

Choose the incorrect order of the given properties:-
(1) BeCl, < LiCl (Electrical conductivity)

(2) NaF < MgF, < AlF, (Thermal stability order)
(3)BeSO, <MgSO, < CaSO, (Thermal stability order)
(4) LiF > LiCl > LiBr > Lil (solubility order in water)
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46.

47.

48.

49.

50.

51.

Terd fHem &1 99F Hifed -
(1) O-EAfEATA > P-AEFAIT = oS g6

(2) O-TEdfiFler < P-EFAler = Fereriieh
CH-OH  CH,-OH

< |
CH-OH = Y=

|
CH,-OH

|
(3) cH-0H

(4) H,0 < HF = =991i%

7 arfafsren & fort Toedt aftads o wifsd
H, + F,—> 2HF

fean @ 1

H-H 9% &t 4 el = 434 kJ/mol

F-F &4 &1 514 1t = 158 kJ/mol

H-F 98 & 5% Sl = 565 kJ/mol

(1) 538 kJ (2) =538 kJ
(3) 27 kJ (4) 27
S YU & I -
(1) SHemsii grr (2) e TaRTS
(3) Fie TRH (4) 395 9 g+t
He" &1 S8 el § Soigeld ol a7 9 B &l dierl
Heq H SFeH % AT I ST BN :-
)] 2 (2) z
3 5
3) = ) =
2 3

TES HT FeAad Hfee e § 2 ¥ -
(1) e =getheteh 1 RferTert 9 Q1 Teethoteh g fiforTent

gfd geH

(2) S SISt 19 RfeTeht o Tk ersewhetes 9 fifsent
gfd gTH

(3) IATFHADT T TeHern g Rfawsi J&® &

<1 wfd T
(4) IgRAHRE 9 FLhAHG [fdhrel T Hl

T gfd qeH]
&3 T &TOll I TeTd SHH W1 =E it -
(1) BeCl, < LiCl (ferge =eferan)
(2) NaF < MgF, < AIF, (ATt Teifac 1 )
(3) BeSO, <MgSO0, < CaSO, (a1 Terifaest =1 %)
(4) LiF > LiCl > LiBr > Lil (5@ # foretaan)
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52.

53.

54.

55.

56.

57.

At 10°C, 1 mol gas is allowed to expand
reversibly and adiabatically 10 L to 200 L. Then
calculate change in entropy -

(1) zero (2) +2.5 cal/k
(3) 1.38 cal/k (4) 5.72 cal/k

When 23 g Nareacts with 1 mole of propyne then
how many mole of H, gas will be released :-

(1) 1 mole (2) 1/2 mole
(3) 1.5 mole (4) 2 mole
Correct statement regarding to H-spectrum is :-

(1) For limiting line of lyman series n, = 1 and
n, =10

16

(2) Wavelength for second line of balmer series = ﬁ

(3) Maximum frequency for paschen series (v)=RC
(4) For first line of bracket seriesn, =5 andn, =6

If a reaction has the experimental rate expression
rate = K [A]’[B], if the concentration of A is
doubled and the concentration of B is halved, the
what happens to the reaction rate :-

(1) Rate becomes double

(2) Rate becomes eight times

(3) Rate becomes tripled

(4) No change in rate

The ITUPAC name of the Wilkinson's catalyst
[RhCI(PPh,).] is :

(1) Chloridotris (triphenylphosphine) rhodium(I)
(2) Chloridotris (triphenyl phosphene) rhodium (IV)
(3) Chloridotris (triphenylphosphene) rhodium (O)
(4) Chloridotris(triphenylphosphene) rhodium (VI)
Consider two reactions

I. Zn + conc. HNO, (hot) - Zn(NO,), + X + H,0
II. Zn + dil. HNO; (cold) - Zn(NO,), + Y + H,O
Compounds X and Y are respectively :-

(1) N,O, NO (2) NO,, N,O

(3) N,, N,O (4) NO,, NO

@
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52,

a3;

54.

5S.

56.

57,

10°C W, 1 Hiet 19 Sehivig € GsA ®4 T 10 L §
200 L @ THIRG Bl 81 79 Tt § ufiad 9
Hifera-

(1) I (2) +2.5 cal/k

(3) 1.38 cal/k (4) 5.72 cal/k

9 23 g Na Wied & 1 Wit § rfufshan wxar &<
forad dia Hzﬁﬂ'ﬂaﬁ?ﬁﬁ -

(1) 1 Hret (2) 172 9@

(3) 1.5 9| (4) 2 9|
H-T&eq & faT 9er se & ;-

(1) wrgAA Aot bl Himr W &% felin, = 1 &
n, = 10

(2)am1avﬁaﬁ1%aﬁw%@rﬁa@%w=£

(3) 9re=A it | sifashad g (v) = RC

(4) Sishe Sof i qem @i felin, =549 n,=6
afe w afufewar &t wEfrs 3T =I9=w
T = K [A][B] ®AC A &1 Qg0 SA[AT a1 B <l
gigor e X G Srar §1 srfufsan & St
T

(1) X ST & et §

(2) T TS O | A §
(3) < A 7o & St ¥
(4) X H F1E afiadq &
fafesh®s Sa%s [RhCI(PPh
3

(1) FAREEIH (TRBHARER) Afeaw (D)
(2) FEAREEIY (IRBHARERM) Afead IV)
(3) FTAREEICE (TEBAARERF) Afeam (0)

(4) FAESIEH (FEHFHeThREn) Afead (VI)
= &1 aAfufspand &

I. Zn + ¥ HNO, (") — Zn(NO,), + X + H,0
1. Zn + 3 HNO, (381) - Zn(NO,), + Y + H,0
TR X T Y B T
(1) N,0, NO

(3) N,, N,O

2] &1 TUPAC T

(2) NO,, N,O
(4) NO,, NO

www.aviral.ac.in




58.

59,

60.

61.

AICL_ (i) OJA, (i) HO®
©+ CICH,CH,CH—>M ) . >N+phenol

Here M and N are :-

ey and CH,COCH,
2) é and CH,CH,CHO
(3) and CH,CH,CHO
“4) and CH,COCH,

For the reaction A(g) + 2B(g) = 2C(g) + D(s),
2 moles of A, 3 moles of B and 1 mole of C are
present in 10L vessel if K for the reaction is 3.6,
the reaction will proceed in :-

(1) Forward direction
(2) Backward direction
(3) Neither direction
(4) None of these

Rate constant varies with temperature by the
equation log K =5 -2000 /T. We can conclude
that (R = 8.314 Jmol 'K™) :-

(1) Pre exponential factor A is 5

(2) E, is 4 kcal/mol

(3) Pre exponential factor A is 10°

(4) E, is 19.212 kcal/mol

What is electronic arrangement of metal atom/ion
in octahedral complex with d* configuration, if
A, < pairing energy.

(1) t3, e

4.0
g (2) eg tag

(3) By & @) t, €
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58.

59.

60.

61.

AICL, (i) OJA, (ii) H,0°
©+CICH:CH;CH3 sy B4 W, SN+

WM@N%:—

(1) st CH,COCH,

@) #ik CH,CH,CHO

(3 @CH}CHZCHO
4) (()Saﬁ:cmcocm

AR Ag) + 2B(g) = 2C(g) + D(s)  fa A

® 27, B& 3 W@ aC & 1 dd, 10L & 9
# 3ufeerd ¥ afg sifufsran & forg K, 17 3.6 ®,
1 erfafeean fore fowm & e 2 o-

(1) 3 feem &

(2) Tv= fean #

(3) foreht oft feom & =

(4) T =g

T froi®s &1 A9®HE & 91U GHIFHIO
log, K = 52000 / T 51 9= @il & | & skl
feTer W ® (R = 8.314 Jmol™'K™) :-

(1) g =Rt ol 5 &

(2) E, 4 kcal/mol &

(3) qd =REmihT Uik 105 F

(4) E, 19.212 kcal/mol &

forelt sTewereia Hee foree fo=ma d* &, &t
getaRgITeh Sered] B A A < 7 ot |

0

4
(2) €5 13

(1) t3, e

0
(3) g € 4) to, e
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62.

63.

64.

65.

66.

67.

The IUPAC name of the compound :-

0 CN

| |
CH,~C-CH,~C—CH,

|
CH,

(1) 4-Cyano-4-methyl-2-0xo pentane
(2) 2-Cyano-2-methyl-4-oxo pentane
(3) 2,2-Dimethyl-4-oxo pentane nitrile
(4) 4-Cyano-4-methyl-2-pentanone

Which of the following intermediate is more stable:-

(4) All are equally stable

A 0.1 M solution of HF is 1% ionized. What is
the K, :-

(1) 107 ) 107

(3)3 x 107 4)3 x 10

An azeotropic solution of two liquids has a boiling
point lower than either of them when it :-

(1) Shows negative deviation from Raoult's law
(2) Shows no deviation from from Raoult's law
(3) Shows positive deviation from Raoult's law
(4) Is saturated

Thermally most stable compound is :-

(1) HOCIO, (2) HOCIO,
(3) HOCI (4) HOCIO
%Cl | |
Cl cl Cl
(A) (B)

(A) and (B) are :-
(1) Chain Isomer
(3) Metamer

(2) Positional Isomer

(4) Functional Isomer
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62.

63.

64.

65.

66.

67.

e T3 Aifes =+ [UPAC = &4 ;-

0 CN

| |
CH,~C-CH,~C—CH,

|
CH,

(1) 4-TrET-4-Afe-2-3tfam =

(2) 2-Hrg-2-Afoe-4-aifa U=

(3) 2,2-SEATIT-4- AT Y2 g
(4) 4-9r37-4-0f9e-2-9=AH

e | i gt i T ¥ -

Cl OH

(4) 9 GEUF &Y § TR

HF 71 0.1 M faer@ =7 1% 3T&=H 2l & ol 36

K, B0 ;-
(1) 10° ) 10
(3) 3 x 10°° 4) 3 x 10

<1 gl = feereraedt fasror 1 saeHis M gal § &0
|| %TSIET?I"&’ -
(1) TS & W 9 monerss fomem <ofan §

(2) T3ee & T & 1 fomem =& <vfar
(3) USee & a9 § wFreqen formem gwiian &
(4) Hqw & €
Haifeer SSHIT Tenfaca aren AT 8 -
(1) HOCIO, (2) HOCIO,
(3) HOCI1 (4) HOCIO
%Cl | |

Cl Cl Cl

(A) (B)

(A) @ (B) T :-
(1) g@en aHEgst (2) Teafq qumest
(3) HEATET] (4) feramemes TaETd
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68.

69.

70.

71.

Which of the following reaction will not yield phenol:-
Cl
(1) @ NaOH(agq.)
—_—
Room temperature
°N,CI®
H,0
) — 5
[Warm]
@ (i) Olium R
3) (ii) NaOH[Heating’]
(iii) H*

(4) All will yield phenol

H* + Cr,07 + SO;” - Cr* + SO, + H,0

In balance reaction coefficient of H" and SOj‘ will

be respectively :-

1)3,8 (2)3, 4

(3)4.1 4) 8,3

Select the correct statement :-

(1) When solution of alkali metal in liquid NH,
is on standing then all alkali metals forms
stable amide

(2) The intensity of blue colour of liquid ammonia
solution of alkali metal increases on
increasing the concentration of metal

(3) The paramagnetic character of alkali metal in
liquid NH, solution increases on increasing
the concentration of metal

(4) The blue colour of alkali metal in liquid NH,
solution is due to absorption of orange radiation

Consider the following values of IE(ev) for

elements W and X :-

Element IE1 IE2 IE3 1E 4
W 105 1551 249 | 79.8
X 8 148 | 789 | 105.8

Other two elements Y and Z have outer electronic
configuration ns” np* and ns® np® respectively.
According to given information which of the
following compound (s) is/are not possible.

@W,Y, XY, ©WZ, (dXZ
(a, b (2)b, c
3)c, d (4)a, d
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68.

69.

70.

7L

=1 § & S aifferan feata 781 a9 € -
Cl

(D NaOH(aq.)
FH F qH T

®N,CI°

) H,0
]
@ (i) eTret=m

3) (if) NaOH[TH]

(i) H°

(4) |ft fiperer st &

H* + Cr,0;” + SO;” — Cr™ + SO, + H,0

Hqfera sifafsan § HY & SO & TN HAW:

B -

(1) 3,8 ()3, 4

(3) 4,1 4) 8,3

U YA H1 99 Hifed -

(1) ST &R Gqgsdi o o faeem =1 fer w@n
Sl &, @ Wt S ATy TRl TS S
)

(2) &R wrgstt & sEfn faeaa & e T #i
e, wTgedl 1 HiEdl ded & WE-ie Sed
¥

(3) &R wiged & e faeEn & srgEs
AL, W < Wil S & |1 w1 gfg et
K

(4) & gt & ST faera ot e T, AR
fofertll & saeiioy & w2l gl

T W d X & fad [Bev) & oF i 713 § :-
s IE, | 1E, | 1E, | IE,
W 105 155 [ 249 | 79.8
X 8 | 14.8 789 | 105.8

T el Y o Z I d18d ol -eh for=1d shHel:
ns® np* 3R ns? np® §1 < T AR & MR W

F AT TeE T

(@ WY, MX)Y, ©WZ, () Xz
(I)a, b (2) b, c

B)ec, d 4)a,d
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72.

T3

74.

75.

76.

Decreasing(-I) power of given groups is :-

(A)-CN (B)-NO, (C)-NH, (D)-F
(hB>A>D>C 2)B>C>D>A
B3)C>B>D>A 4“HC>B>A>D

The major product in the following reaction

CH,-OH

+yorheaty .

OH
CH,~Cl CH,~CI
(D (2)
OH Cl
CH~OH CH,-OH
3) o @)
OH Cl

Which of the following gas has highest critical
temperature :-

(1) He(g) (2) Ne(g)
(3) N,(&) (4) SO,(g)
Select correct statement :-

(1) Acidic strength of HBr > HCI, but reverse is
true for their reducing property

(2) Basic strength of PH,, > AsH,, but reverse is
true for their bond angle

(3) Dipole moment of CH,Cl > CH,F, but reverse
is true for their H—C — H bond angle

(4) Ka, of fumaric acid is higher than maleic acid
but reverse is true for their Ka,

Which of the following is true alum.
(1) Li,S0,.Al,(SO,),.24H,0

(2) K,S0,.A1,(S0,),.24H,0

(3) CaSO,.Cr,(50,),.24H,0

(4) Both (1) and (2)
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72.

73.

74.

75.

76.

<3 T3 99Rl @ (-I) &A1 1 = % BT :-
(A)-CN (B)-NO, (C)-NH, (D)-F
(H)B>A>D>C 2)B>C>D>A
B)C>B>D>A 4 C>B>A>D

= srfufran # gea 3ae dm
CH,-OH
ryorheaty .
OH
CH,—CI CH,—CI
(1) (2)
OH Cl
CH,~OH CH~OH
(3) | (4)
OH Cl
/= d 9 fog i@ =1 wifdas a9 Haifus

B :-

(1) He(g)

(3) Ny(2)

& FHIT T :-

(1) sv<ia 9med &1 %9 HBr > HCl @fshd 39
AT T % ferd 7w w fawdia S §

(2) &I W 1 hH PH, > AsH, @ifeh 74 =10
=1 A foafia 3 &

(3) fgea el =1 9 CH,C1 > CH,F &ifeh 5¥eh
H-C — H 90 & %A faudid 8 &

(4) AR o 1 Ka, Ao v 9 a1fer g,
v 3% Ka, % foe 7 &+ fooda & €

e & | arafasw ekt &

(1) Li,SO,.AL(SO,),.24H,0

(2) K,80,.A1,(S0,),.24H,0

(3) CaSO,.Cr,(SO,), 24H,0

@) (1) = (2) <

(2) Ne(g)
(4) SO4(g)
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77. The decreasing order of stability of following
anions is :-

(C) (€] © (€]
gz 5 éjH )

OCH, CHO I CH,

(P) Q (R) (S)

(HDQ>R>S>P 2)R>Q>P>S
B3)S>P>R>Q GHP>Q>R>S
78. Compound A and C in the following reaction are:-

(i)CH;MgBr
(i)H,0 7 A A

(1) Identical

(3) Functional Isomer
79. Mass percentage of C, H and O in a compound

are 60%, 13.33% and 26.67% respectively.

Molecular weight of the compound is 60. The

H,S0,

rd

Hydroboration \C
Oxidation

CH,CHO

(2) Positional Isomer
(4) Optical Isomer

molecular formula of the compound is :-
(1) CH,0H (2) C,HO,
(3) C,HO 4) C,H,O

80. Which of the following process involves smelting:-
(1) 2PbS + 30, — 2PbO + 2S0,T
(2) ALO, . 2H,0 — ALO, + 2H,0
(3).Fe, 0, + CQ = 2Fe + 2C0,
@) Cr,0, 4 3 2Cr + ALO,

81. P,O,, has short & long P-O bonds. The number
of short P-O bond in this compound is :-
1) 12 2) 2 3)3 4 4

82. Enzyme are :-
(1) Proteins
(3) Oils

83. o

(2) Minerals
(4) Fatty acids

COOK

COOK

Electrolysis .
—_— A -

(major product)

3

(1)

3)

/A

8 \=/
=

@ ]

t I

CREATING SCHOLARS
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77. Tr=afafe sEomeE 1 wenfae & ved w0 H ated
HIfT :-

Q 9 ) S)
%7 & é;l )
OCH, CHO (I CH,
P) Q) (R) (S)

(HQ>R>S>P 2)R>Q>P>S
BS>P>R>Q @HP>Q>R>S
78. =3 exfuferen & Hifts A wd C ¥ -

CH,CHO—Urmre , o 1o , g TEETN ,C
(1) THTAA (2) Feardt gEEEt
(3) Toraress TuEEet  (4) YRS THEEE!

79. WEH A AC, HT O Hi §F9H % HH H9: 60%,
13.33% 1 26.67% & ATk o1 SAYAR 60 T 1 39
iR 1 A T :-

(1) CH,0H (2) C,HO,
(3) C,HO 4) C,H,0

80. T YFHH (smelting) W< <l - 48
(1) 2PbS + 30, — 2PbO + 2S0,T
(2) ALO, . 2H,0 — ALO, + 2H,0
(3) Fe,0, + CO —» 2Fe + 2CO,

(4) Cr,0, —AL_;2Cr + ALO,

81. P,0,,3R2 =L P-O 94 W&l ¢ 39 At # Bie

P-O =¥ %! G& &

(1) 12 2)2 3)3 4 4
82, TSEAE:-
(1) 9 (2) Tt
(3) &) a& s
COOK
NOOE--YY
(
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84.

85.

86.

87.

88.

89.

90.

The standard potential of a Co*?| Co electrode is
—0.28 V and the standard potential of the cell
Pt|Ti** (aq), Ti** (aq)||Co** (aq)|Co(s) is 0.09V.
what is the standard potential of the

Ti(zgq_) Ti(ig_) electrode :-
(1)-037V (2) 037V
(3)-0.19 V 4)0.19 V

Which of the following will have three
stereoisomeric forms :-

(i) [Cr(NO,),(NH,),] (i) K;[Co(C,0,),]
(i1i) K, [CoCL(C,0,),] (iv) [Co BrCl(en),]
(1) iii, iv (2) i, ii and iv

(3) Only iv (4) All

The d-orbitals which are involved in hybridisation
of central atom in ICI, :-

(1) dz2 doa2 (2)do2 2, d,,d,.d,
(3) da, dxy, A T 4) dxy, d dyZ

yz’
Nylon-6,6 is not a :-

xz?

(1) Condensation polymer

(2) Polyamide

(3) Copolymer

(4) Homopolymer

The best reagent for converting 2-phenyl
propanamide into 2-phenyl propanamine is :-
(1) Excess H,

(2) Br, in aquous NaOH

(3) Iodine in presence of red phophorus

(4) LiAlH, in ether

Tobacco seed globin forms face centred cubic

crystals with unit cell dimension of 12.3 nm and a
density of 1.287 g cm™. Its molecular mass will be:-

(1) 362 g mol™ (2) 3.6 x 10° g mol™!
(3) 36 g mol™! (4) 3.6 x 10° g mol™

Which of the following is not a characteristic of
transition element :-

(1) These forms organometallic compounds
(2) These forms large number of complexes
(3) These represents variable oxidation states

(4) These group oxidation state is (+3)
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86.

87.

88.
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90.

Co*}| Co 3oiagIe w1 A fasd — 0.28 V & qen
T PH|Ti** (aq), Ti** (aq)[|Co®* (aq)|Co(s) FTHFE

fawra 0.09V ¥1 Tify,) | Tifs,) 1 A favra
€ -

(1)-0.37V (2)0.37 V
(3)-0.19V 4)0.19 V

= @ o Aife & 9 e s e s
5

(i) [Cr(NO,),(NH,),] (i) K,[Co(C,0,),]
(iii) K, [CoCL,(C,0,),] (iv) [Co BrCl(en),]
(1) iii, iv
(3) ad iv
ICI, 9] H fohe YR = d-hefeh s WA &
GHTOT F 91 o ® -

(1) dzz, dxz_yz 2) dxz_yz, dxy, d
3)dpd,d,d, @ d,d,,d,
FIAT-6,6 &l ¥ ;-

(1) T Sgerh

(2) diciiTAEs

(3) He-=geTh

(4) 9R-¥gTH

-t WIOATHIES i 2-%iHe WA # afafda
F1 & fag STgw sfved® € -

(1) H, s

(2) e NaOH # Br,

(3) Wl wIERRE 1 sufeafa #§ L & sifufsan
(4) ¥ ¥ LiAlH,

FEaITeh, ST e 12.3 nm SIS i 1 1 HeAsh
Ffga o fFeea 9911 € 9o 39S S
1.287 g cm™ EELED SUHR BT :-

(1) 362 g mol™ (2) 3.6 x 10° g mol™
(3) 36 g mol™! (4) 3.6 x 10° g mol™!
11 § | BF U GhRA el ol SAfuenarfoes o
T -

(1) 3 wreefeaes Afirw a0

(2) ¥ 9gd &A1 | Heped ST ©

(3) 3 yfterdsier sTerdtertor sraeerd yefvld s &
(4) TTR! TR SIS a7 (+3) T

(2) i, ii and iv

(4) Teft

yz’ dzx

.4
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91.

92,

93.

9.

95.

96.

97.

98.

99.

100.

BIOLOGY

Which of the following is not correct for viruses ?

(1) Virus contains both RNA and DNA

(2) They are inert outside their specific host cell

(3) Viruses are obligate parasites

(4) Genetic material of virus is infecteous

Glycosilation completes in which cell organelle?

(1) Golgibody (2) R.ER

(3) Mitochondria (4) Lysosome

The mineral nutrient, neccessary for oil synthesis

in crucifer plants, is :-

(1) Cobalt (2) Sulphur

(3) Boron (4) Nickle

In a population of 5000 individual, 450 individuals

show a recessive trait. What will be number of

heterozygous individual in this population ?

(1) 2100 (2) 4500

(3) 1500 (4) 1050

Select the odd one with respect to ploidy level

(1) Nucellus (2) Archesporium

(3) Aril (4) Embryo sac

Which of the following occur by the end of first

trimester of pregnancy :-

(1) Formation of eyelashes

(2) Separation of eyelids

(3) Body is covered with fine hairs

(4) formation of limbs

Choose wrong statement :-

(1) Cells of cartilage are enclosed in small cavities

(2) Bones support and protect softer tissues

(3) All bones are the site of production of blood cells

(4) Intercellular material of cartilage is solid and
pliable

Flat body and suckers is the distinctive feature of:-

(1) Ctenophora (2) Annelida

(3) Platyhelminthes (4) Arthopoda

Following statements are true except :-

(1) Parathyroid gland are present on back side of
thyroid gland.

(2) Thymosin plays a major role in the differentiation
of T-lymphocyte

(3) Testosterone is a steroidal hormone

(4) Thyrocalcitonin increases blood calcium level

Inulin is a polymer of :-

(1) Glucose

(3) Sucrose

(2) Fructose
(4) Maltose
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100.

Hi T & wed ¥ wdt A 7 2

(1) 9158 H DNA @ RNA 21 8 ©

(2) 3 fasre G iR & aret fiftwa 8
(3) A fashedl qLsiat B ©

(4) AT H SAITH gered HehtHh Bl &
TSRS foRa fore hIfTeRT 37Tk ot Bt T 2
(1) Treirepr (2) RER

(3) HrEdrehif~gan (4) <A

W e, S SR Il H o HYersv =g Sifard
4 N

(1) FETE=E (2) TTHL

(3) s (4) Frra

Afg 5000 TEE! el SHEEA § 450 T ST
ST <9 €1 39 SEE | favmrys wewii
& F1 B 2

(1) 2100 (2) 4500
(3) 1500 (4) 1050
o & T | fawm @ g -
(1) SemvEs™ (2) THAH
3) @ (4) YIS

=1 § @ SiF-|1 Tutaen w1 gy fauet % oiq

qe il % -

(1) itEi =1 aif=t &1 a9

(2) @i $T TTR] HT AT B

(3) 9 YRR wiHet STell o G St §

(4) 9 (limbs) =hT ST

TTeTd U HT FAE B ;-

(1) Sfeer =t wiferemd St Teredi 7 feorm ot 71

(2) S T Sieeh! <1 TRl o GUEN FeH il

(3) |l erfeeri T ifsremedi & fmio %1 Se R

(4) SUTTEST 3T STALRITITER 19 TaTel S e A el
T

TI IR TF ok FRaeh! fadems aa ¢ -

(1) fer®m (2) TS
(3) wreTeferes (4) sneifdrer
feu &8 vt wum wet ® faam -

(1) TS IiY 9iEe Uty & 919 & Wh
feora 2t ©

(2) ersarH T-fermraee & faddso § ge
yfient foma &

(3) TEERA T Eiged BHA §

(4) Gt R T Hodad & W oEd §

Inulin foreeh aga® © :-

(1) Glucose (Te[shId)

(3) Sucrose (¥shiH)

(2) Fructose (Ha2d)
(4) Maltose (HTeed)
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101.

102.

103.

104.

10s.

106.

107.

Which of the following statement is true ?

(1) Living organisms share similarities only vertically

(2) Increase in mass and numbers are twin
characters of reproduction

(3) Planaria exhibits true regeneration

(4) Consciousness is not a defining feature of
living organisms

Dark Reaction completes in which part of chloroplast?

(1) Stroma (2) Chlorophyll

(3) Granum (4) Thylakoid

Which pair is wrong ?

(1) Guttation - Hydathodes

(2) Root pressure — Active absorption of water

(3) Stomata open — K-malate formation

(4) Path of Ascent of sap— symplast

The figure below is the diagrammatic representation

of the E. Coli vector pBR 322. Which one of the given

options correctly identifies its certain component(s)?

101.

102.

103.

104.

frreferfern # M o1 we T8 € 2

(1) Gsital & TFaetl @ 9riert Seaftr &9 &
B B

(2) YR qen T&AE | S Akt Sl o @ fggrHt
stfiyerero ¥

(3) wifiar B ardfas gAsHE o §

(4) =T Gsiiar =1 fafirse weor 7@ @ B

STyehITTeR foran, eiaerae & forg i & quf 3 & 2

(1) € (2) FARITRA

(3) T (4) AEARIES

S ST o ® 2

(1) fogema —» 5id

(2) JORTE —> ST I HihT SO0

(3) 19 G — K-Here &1 fafo

(4) TERIEY &1 AFl— faawere

E.Coli =7 9&=X pBR 322 & &3 571 @ 3@t

yfaesf & Frefafea 8 4 fFa uw fawey & am

(WFT) =t W& 9e9 & T T -

(1) Hind III, ECoRI-selectable markers

(2) ampR, tetR-antibiotic resistance genes

(3) ori-original restriction enzyme

(4) rop-reduced osmotic pressure

How many reduction divisions are required to produce
a mature female gametophyte of angiosperms ?
(1) Two  (2) One (3) Three (4) Four
Antrum is characteristic of :-

(1) Corpus luteum

(2) Tertiary follicle

(3) Secondary follicle

(4) Developing primary follicle

Protection against the chemical and mechanical
stresses are provided by ?

(1) Areolar connective tissue

(2) Compound epithelium

(3) Simple epithelium

(4) Cartilage
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(1) Hind III, ECoRI-== @ fas

(2) ampR, tetR-Tramfes Ffadig s

(3) ori-7el HH TS

(4) rop-9UEON T H HH

Afrorire # we uftuse e sk e fie o R % ford
o St el i STavahar Bt € 2

(1) = 2)T= (3) =
Ter formen fafore oo ¢ .-
(1) 199 qfeam &1

(2) R gfesht

(3) fefrarew gfesr #

(4) fomfaa g W@ wafass gfer
THEfH T Fifoeh STrEm § e foees g ueH
Eils il

(1) STaRTel TS Sdsw R

(2) WY SUHTT gRI

(3) XA Ul BRI

(4) SuIfEer gra

(4) =R
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108.

109.

110.

111.

112.

113.

114.

Male moth recognise female moth of their species

by sensing pheromones. This is an example of :-

(1) Gametic isolation  (2) Habitat isolation

(3) Behavioural isolation (4) Mechanical isolation

What is not true about hormone produced by

cells of pancreatic "Islet of Langarhans" ?

(1) Stimulate conversion of glucose to glycogen

(2) It is a peptide hormone

(3) It enhances cellular glucose uptake and utilisation

(4) It increase blood glucose level

How many of the following are the functional

features of an ecosystem ?

Species composition, Productivity, Decomposition,

energy flow, Nutrient cycling, Stratification.

(1) Two (2) Three (3) Four (4) Five

Read the following statements carefully :-

(A) Dikaryophase is long in phycomycetes

(B) Fungal cell wall is made up of chitin

(C) A large number of fungi of class deuteromycetes
are decomposers of dead organic matter

(D) Mushrooms belong to group basidiomycetes

How many statements are correct ?

(1) One (2) Three (3) Two (4) Four

Who proposed the hypothesis that the bodies of

animals and plants are composed of cells and

product of cells ?

(1) Schwann (2) Schleiden

(3) Rudolf virchow (4) Brown

Tightly attached organic group with apoenzyme

is called as :-

(1) Co factor (2) Co-enzyme group

(3) Activator (4) Prosthetic group

Flower colour in purple in sweet pea due to

non-allelic interaction between two dominant

genes C and P. Read the following statements for

plant with ccPP genotype —

(a) Flower colour is white

(b) No synthesis of chromagen

(c) Raw materials are metabolised into chromagen.

(d) Crossing with heterozygous purple flowered
plant will yield equal percentage of purple and
white flowered plants.

Select the option which have incorrect statements?

(1) Statements (a) and (b)

(2) Statements (c) only

(3) Statements (a), (b) and (d)

(4) Statements (c) and (d)

AVIRAL CLASSES

CREATING SCHOLARS

108.

109.

110.
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112.

113.

114,

T AT IAhT A kT TIET I HRERT bl Hog
Y U ¥ 1 I8 32 B

(1) TR GIRF (2) ST GHHH I I
(3) ARG JIRH H (4) Tk JIRHL Hl
STARM & "TTRe giu" i B HIfvTehRisi § fhe
et B @ g | wE T T 2

(1) ¥ TEFh! ¥ TellgehSH S 3t Jishal ol IR il ©
(2) 98 T T=rES 3 ©

(3) T& HISTERT Tefehiel SRR AT SYANT hl <l &
(4) I8 T H ToElSl & W I Sed §

= A | foeam nfifeafas 73 & feania w2
g2

R fa=ma |

(= @ (3) =R (4) df=
= FoFl w1 wE ¥ fe -
(A) FEHEREES | fghfgsT sae o 2 g

(B) %ae i whifvrent fufa wmfed &1 s+ 2t g1

(C) sfeimmEfaes v i Afwe Fasw, Ja
et Terdl B ATEH Bl B

(D) #ereH, dSfafedmeiads o & e 3 |

o %9 HE § 2

M @ @ (4) =R

g IReer fFam & fF og T8 9Rd &1 IR

HITITRIST Td I SIS HT 1 Bl © 2

(1) vam (2) TegeA
(3) ®Erew fa=e (4) 93

TUITSTEH & §1¥ gedl H ST e (e §HE hgaldl

T -

(1) 98 & (2) Te-fast 9E

(3) Tfshas (4) drefes w8

=it HeX | Y9 o1 U1 &1 IHMEl S C 9 P & 7ed

%1 non-allelic STTHAT & HRO ST BT Th

ccPP STAIRTEY o1t 9d & Wiy | frefafed swem

ofew -

(a) 59 T 1T hS BT

(b) TSI T FYAHT &l M|

(c) Raw materials chromagen ® SUTII=Id B |

(d) fowmTedt S 59 et 9T | i FH W
S & Hhe I8 ATelt Ffde sreR | 7 9T
B |

ISR FHIA H F T FYF Bl 2

(1) F¢ (a) T (b)

(2) Had HAA (c)

(3) ¥ (a), (b) 9 (d)

(4) ¥ (c) 9 (d)
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115. The embryosac of angiosperms contain :- 115. STgqersial § YUk @l ¢ :-
(1) 3 celled egg apparatus, 3 antipodal cells and (1) 3 IR 3TUE TH==, 3 WA hITITRI
2 polar nuclei Td 2 Y &b
(2) 2 celled egg apparatus, 3 antipodal cells and (2) 2 FIFTRE 310 TH=IE, 3 TFqeAATa HifereR
2 polar nuclei @ 2 yda b
(3) 3 celled egg apparatus, 2 antipodal cells and (3) 3 FIRTER 370 TY=ad, 2 Ffaearaid Hifvreh
1 polar nucleus TE | Y sk
(4) 3 celled egg apparatus, 1 antipodal cell and (4) 3 FITF 3 Y=, | Ffqeamid iR
2 polar nucleus @ 2 Y9 d5h
116. In the blastocyst, trophoblast is 116. FRFHYL (ARLITTR) § IR (Irhsare)
(1) Arrangement of blastomeres in an outer layer (1) PRFHEUE (SARHITH ) Tl Ueh SlTel T H ol
(2) Arrangement of blastomeres in an inner layer (2) FREFEUE hi Tk AT R H Taeen
(3) Arrangement of inner group of cells (3) 3T RITITHT TS DI e
(4) Arrangement of both inner group of cells and (4) 9TE0 TqE i TRHEY 9 ST R e,
outer layer of blastomeres Sl i & e
117. Find out the correct match from the following table:- | 117. 1= dfeter # | W&t foema amer fomhed =1 94 -
Column-I Column-II | Column-III -1 FHIAg-11 FHTAT-II1
i | Gastric lipase Qa}stric Digest starch i | et e e T = F1 9=
juice
ii | Carboxypeptidase | Pancreatic | Acts on i - ; i
Jjuice protein il %
iii | Salivary amylase | Saliva Acts on iii | TR T TR | @R ESUESHREICiE
elastin protein R FE Hr®
(i &ii (2) ii only (Didii (2) ii 7
(3) i only (4) iii only (3) i 5= (4) iii A=
118 unrelated |:S' ™ Development of similar 118 aﬂ'ﬁiﬁlﬁl:s‘ S GHH e & HE THM
: group adaptation due to same habitat - e
Sz/ W Sz/ 3EILSEII_°F[
The above diagram shows which type of evolution YU J@=s S, 9 S, HEH R YhI A
between S, and S, :- SEfhTE I € :-
(1) Convergent (2) Divergent (1) sart (2) TR
(3) Adaptive radiation (4) Mega evolution (3) ergeRett faferem (4) Fed SfahE
119. 119.

Which of the following labelled part is choroid ?
(1) A (2)B 3)C 4D
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120.

121.

122,

123.

124.

125.

126.

127.

Extinction of stellar's sea cow is due to which of
the following reasons :-

(1) Habitat loss

(2) Over exploitation

(3) Alien species invasion

(4) Co-extinction

Which of the following statement is false about
heterosporous pteridophytes ?

(1) They are seeded plants

(2) Germination of zygote takes place within
female gametophyte

(3) Prothallus is absent

(4) They are ancestors of gymnosperms due to
seed habit

Inflorescence, in which peduncle is thin,
long,weak & hanging downward and flowers are
sessile & unisexual, is called.

(1) Spike (2) Catkin

(3) Raceme (4) Spadix

Which one of the following organism never
releases oxygen gas during light reaction ?

(1) Anabaena (2) Diatoms

(3) Chromatium (4) Chlorella
Multiple alleles can be found only when :-

(1) Population studies are made

(2) Individual study as made

(3) Mutation is absent

(4) Dominance is present

Relationship between crow and cuckoo (koel) is :-
(2) Predation

(4) Mutualism

The organ, where immature lymphocytes
differentiate into antigen-sensitive lymphocytes ?

(1) Brood parasitism

(3) Competition

(1) Bone marrow
(3) Spleen
If a person takes 100gm. carbohydrates, 60 gm

protein and 30gm fat. Then how much amount of
energy he get :-

(1) 400 KCal
(3) 500 KCal

(2) Peyer's patches
(4) Lymph nodes

(2) 910 KCal
(4) 555 KCal
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Ter W M w1 fag@ 29 F 1 9E w0 I
T

(1) smarda aifa

(2) Afagred

(3) fageft snfaai =1 smeRyu

(4) wEferegw

e 5 i T o fammsisuyfaes SEnse & ar
T 9 ® ?

(1) 9% =S ot 9Iey 2§

(2) FTHAST =T KT HET FHAIEIHE & L BIell
gl

(3) Wider eTgufeerd Bt T

(4) s e & R ¥ = & e weerd
gl

TN A T 3R 39H q59 Srg= SR ushferh 2 €,

FHEedl § -

(1) v (2) whefe

(3) FHHH (4) Hfeeam

= T | i St wehiferen arfufsran J stfedsm
o &l il © ?

(1) @@ (2) sreH

(3) AT (4) FeT
SR hael 9 Y ST THd §, 59 :-

(1) SFEE 1 31ea T S 2

(2) T HEH &1 AUEH e o €1

(3) Scfada srgufeerd &

(4) gefeehar Sufead &

Hid T HIFA o S= HT G B © -

(1) 3Tv8 TSifaar (2) T

(3) fereqat (4) SRIg=RTRET

9% 37, el STIRusa AHH] FiasH Hognd
iR A fadfed @ € 2

(1) e wsam (2) TR =g

(3) witer (4) TEHT MS
Qﬁ@qﬁm% IOOgm.EFIﬁ'a'IE@ﬁ, 60 gmﬁ'c"'\flﬁl

30 7T =1 IS H it € 1 SHen] T 9T B arelt
Foll § -

(1) 400 KCal
(3) 500 KCal

(2) 910 KCal
(4) 555 KCal
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128.

129.

130.

131.

Find out the correct option regarding human heart
and circulation :-

(1) (i) Systemic heart (A+B), (ii) Pulmonary heart
(C+D), (iii) Pulmonary circulation E,
(iv) Systemic circulation F

(2) (1) Systemic heart (C+D), (i1) Pulmonary heart
(A+B), (iii) Pulmonary circulation E,
(iv) Systemic circulation F

(3) (1) Systemic heart (C+D), (ii) Pulmonary heart
(A+B), (iii) Systemic circulation E,
(iv) Pulmonary circulation F

(4) (i) Pulmonary heart (A+C), (ii) Systemic heart
(B+D), (iii) Pulmonary circulation F,
(iv) Systemic circulation E

Which is correct regarding corpora quadrigemina :-
(1) It is composed of 4 hollow lobes

(2) It is located between pons and medula

(3) It is the part of hind brain

(4) This is characterstic of mammals

In a terrestrial ecosystem :-

(1) A much larger fraction of energy flows
through the grazing food chain

(2) A much larger fraction of energy flows through
the detritus food chain

(3) Equal energy flows through both grazing as
well as detritus food chain

(4) Their is no energy flow

The seed of Cycas has two cotyledons, still Cycas
is not placed under dicots because :-

(1) Lacks vessels
(2) Seed is not covered by fruit
(3) Female cone is absent

(4) Male gamete is motile
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oee ged 9 uRg=Rw & fouw g fawew

EEEES

(1) (i) <f& &< (A+B), (ii) BFREE &= (C+D),
(iii) BFRET 9ft@=R01 E, (iv) <fes
=T F

(2) (i) 2fesh 72T (C+D), (i) BFRHT &4 (A+B),
(iii) mFRE 9ftg=Tm E, (iv) 2fesw
=R F

(3) (i) &fes &2 (C+D), (ii) BFEHT &3 (A+B),
(iii) <fg® wftE@=R01 E, (iv) BFRHEE
qRE= F

(4) (i) BFRHE T2a (A+C), (ii) 2t &2a (B+D),
(i) BFRH TRE=F, (iv) Sfeeh aRE=RIE

ST Fenfgsiii & Ty A e fosheq a2

(1) I€ IR GrEeft aife= I s+ G 8l

(2) 9% i @ e & s= H sufeen da 7

(3) 98 Y= Hi&T=h 1 9N Sl 2

(4) 9% T o fafimse o 7

el et o & ;-

(U;F{“Tm%j@m$gmaﬁwaafwﬁﬁﬁ

|

(2) TR W15 FET & I Aferah 37 yafed art
Tl

(3) IR F HAWE VG FE Sl o gRI ST A
T I garfed Bl €

(4) o1 T DTS YATE TE B |

TG h ol | 1 rerdsl i g¢ +f 39 fgsfsrasit
Yl & WY T T TR i -

(1) afeehrt, erqafeerd 80 ©
(2) < ®t & Mgd T A T
(3) T Vi, AU B
(4) TR e Tiasiier g §
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132. Which of the following statement is incorrect for

meristematic tissue ?

(1) It is an undifferentiated tissue

(2) It has both primary as wall as secondary cell

132. 7= § S FoF favsias! S0 & fau g€

TR

(1) 98 U srfadfed soe 8
(2) 39 wafys wifyren fufa & gy fgdes

wall whiferent fufa «f o€ St 7
(3) Cells have dense cytoplasm (3) Hifsrerteti # HIfyrRge WA B ¥
(4) They do not have intercellular spaces @) 3@3 3T HITRT T Cﬂiqﬁﬂﬁ T Bl
133. Which matching is wrong? 133, @E B T ® 2
Auxin Gibberellin Cytokinin e | et EIPCIEIFEE]
1 | Rooting Bolting Antiaging 1 [ ey | sifees g yfaeTgad g
hormone hormone hormone T
2 | Avena a.- amylase Root - 2 | i TR0l O~ THTSENS ol HeH
curvature test | action test inhibition test ey afsaror qiteror | Tfteor
3 | F.W.went Kurosawa, Miller 3l pwa= _“an» A | firer
Yabuta
4 | Phototropism | foolish seedling | Tobacco pith 4 3 T o T iy é\;‘l [
disease culture =
134. In wheat grain colour is controlled by 3-polygenes 134, T 4 el Tﬂ'tq T dredrsi EITI fraf=ra
then what is the percentage of offspring in F, Ll E, Wit # fora i geataar fonel off Ugen
generation which is similar to either of parent ? q HHA T € ?
(1) Less than 5% (2) 12.5% (1) 5% & %4 (2) 12.5%
(3) 3.125% (4) Zero (3) 3.125% (4) 1A
135. Black foot disease occurs due to :- 135. Black foot SITART fheeh o gl €72
(1) Cadmium (2) Mercury (1) sefem (2) HRd
(3) Arsenic (4) Copper (3) FRE(TH (4) BT
136. Turner's syndrome is characterised by :- 136. = fagm =1 sifyenafires e ¢ -
(1) Short stature and under developed male characters (1) Brel we 3 sredfasiad T&w wam
(2) Tall stature with feminised characters .
. (2) =91 T & WY AU AL
(3) Tall stature and underdeveloped feminine
characters (3) S whe 3R TeafaehiEd S Taq
4) Short stature and underdeveloped feminine
) ., (4) BT g AR Aqfaenfag o e
characters
137. Conditional reabsorption of Na*and water takes | 137. Na* a1 Siet @1 qRfafas= STaeisor e ¢ :-
1 in :- ; g
phace T (1) PCT (wefiqesr seferm et #)
WPt T & T DI UG =1 H
2
(2) Ascending limb of loop of Henle @ kS e
(3) DCT (3) DCT (gt~ E\Eﬁ‘dﬁ Afcteht ﬁ)
(4) Descending limb of loop of Henle (4) &1 h o9 hI e Y1 A
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138.

139.

Para sympathetic

AN

Heart beat Rate
N

l l

Find out the correct words for A,B,C,D,E and F
in the above flow chart

(1) A Adrenalin B Thyroxin C Decrease
D Decrease  E Increase F Increase
(2) A Nor adrenalin B Ach C Increase
D Decrease E Increase F Decrease
(3) A Nor adrenalin B Ach C Increase
D Increase E Increase F Decrease
(4) A Ach B Nor adrenalin C Increase
D Decrease  E Increase F Increase

Read the following statements :-

(A) Impulse transmission across an electrical
synapse is always faster than that across a
chemical synapse

(B) At the site of excitation, Na*ions channels open
and restore the resting potential of the membrane

(C) Cerebral cortex is made up of gray matter

because myelinated axons are concentrated here.

(D) Association areas are responsible for memory,

intersensory association and communication

(E) Limbic system is composed of pons, medulla

and cerebellum.
Which statements are correct ?
(1) AB.E (2) B,C

(2) B.C.D (4) A,D

AVIRAL CLASSES
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138.

139.

AN i

AL

U Yen o # A,B,C,D.E 9 F & ford wet g
g -

(1) A Adrenalin B Thyroxin C3H

D =H | VRIS F =<1

(2) A Nor adrenalin B Ach C 01

D %A E St F &9

(3) A Nor adrenalin B Ach C =1

D ST E =<1 F &H

(4) A Ach B Nor adrenalin C <<]

D %H E S0
Gefl gl S FAYEE ded |
(A) SoAfasal 9 | dfT 3TeT 1 HER,

AT e | Ted g el B

(B) SEIT 9161 T W Na* 312 o1l Gard € Td
fasme wen favwa =1 gA: wenfag & ¥

(C) rTETssh Jehe, TR %4 1 91 81 § | TR
T HrEfeH g TR Sufeerd 21 B

(D) FeTt &, FIeeryd, 37=: HWagl geurfimar
g Fraiary S8 Sfed i & fau s
gl

(E) faftares @1 Wi, fgen wd sty 9 e
1 BT ©

F =1

70 ¥ BT FHYT G § 2
(1) AB,E (2) B,C
(3) B,C,D (4) AD
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140. Which of the following is most widely used in

removing particulate matter present in the exhaust
from a thermal power plant ?

(1) Cyclonic arrester
(2) Scrubber
(3) Electrostatic precipitator

(4) Catalytic conver

141. Which of the following type of microbes is present
in gut of cattles as symbiont ?
(1) Halophiles
(2) Thermoacidophiles
(3) Methanogens
(4) Mycoplasma
142, Match column-I with column-II & choose right
option :-
Column-I Column-IT
(Type of vascular bundle) | (Example)
(i) | conjoint, collateral, (a) | stem of
open Dracaena
(ii) | conjoint, bicollateral, | (b) | stem of
open cucurbits
(iii) | Ampbhicribal (c) | stem of dicot
(iv) | Amphivasal (d) | ferns rhizome
option :-

143.

(1) (i)-b, (ii)-c, (iii)-d, (iv)-a
(2) (i)-a, (ii)-b, (iii)-c, (iv)-d
(3) (i)-d, (ii)-a, (iii)-b, (iv)-c
(#)(i)-c, (ii)-b, (iii)-d, (iv)-a

How many plants in the given list below have C,
Cycle ?

Radish, Sugarcane, Sorghum, Atriplex, wheat,

Crassula.
(1) four (2) five
(3) three (4) six
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140. 7 # e am foga 999 & fafas § Asg

141.

142.

143.

IR T eIl Sl g2 H Hafue Sde &9 H 3qA
Bl € 2

(1) =t iy

(2) AR

(3) feer 3gga smafys

(4) werfdafes Fae

e § | HIMY YR 1 eusia qAE ®i i
T weslidt & ®9 § 91 S @ ?

(1) Eeiifthed

(2) gHiufaSifhed

(3) B

(4) HIEHTEATSH

Hia -1 1 Hiew -1 § Fafad s el fawey
% g -

HicH-1 Hliad-11 (ISR

(G957 95d & THNR)

(i) | g daf¥es, gt | (a) | g7t @

(i) | e afgui¥as gt | (b) | HHfoew =
GE

(i) | TEH=T (c) | TesieTust =
LRl

(iv) | droames=t (d) | = TS

Hied :-

(1) (i)-b, (ii)-c, (iii)-d, (iv)-a

(2) ()-a, (i)-b, (iii)-c, (iv)-d

(3) (i)-d, (ii)-a, (iii)-b, (iv)-c

(4)(i)-c, (ii)-b, (iii)-d, (iv)-a

= St i = § feran del # ¢, B € 2
T, T, SR, TR, W, Fgen

(1) =R (2) dt=

(3) @ 4) B:
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144.

145.

146.

Complete genome of which crop & non-crop plant
has been sequenced respectively :-
(1) Rice & Arabidopsis

(2) Arabidopsis & Caenorhabditis
(3) Arabidopsis & Rice

(4) Arabidopsis & Sunflower

community of sp.1 3 Community of sp. 2
/ / /
o Io o o ..o:. . . - -I
ocoooo0 | 8de
0000 ]| ‘oo
Oo0oo0o0 | °°
.O‘O.
o
¢

Find out the B and C :-

(1) B- Ecotone C- edge species
(2) C- Ecotone B- edge species
(3) Both are ecotone

(4) Both are edge effect

Consider the following four statements (a-d) about
AIDS/HIV and select the option which includes
all the correct ones only :-

(a) Characterised by decrease in number of killer
T-cells

(b) HIV virus has 2 identical molecule of ds RNAs

(c) AIDS spread through touch, physical contact,
hugging, kissing

(d) There is always a time lag between the
infection and appearance of AIDS symptoms.

Options :-

(1) statements (b) and (d)

(2) statements (a), (b) and (d)
(3) statements (b) only

(4) statements (d) only
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144.

145.

146.

T HHEY 9 TFHIATT TEY HT FHHA: o7 S
1 e T <1 9% © -
(1) =reed 9 Arabidopsis

(2) Arabidopsis @ Caenorhabditis
(3) Arabidopsis 9 =19d

(4) Arabidopsis 9 GITHE]

community of sp.1 B Community of sp. 2
] / /
o Io o O _.o:. P . . . 0’
oooo | 8de R
0O 00O oo : . "
0000 g;’ D
N~
C
B @ C &l 9g=id -

(1) B- 3®IEHA C- R &efis

(2) C-3hieA B- &R Tiefs

(3) Tl IR €

(4) S TS 3% (FR 99E@) E

frafafed =R &eHi (a-d) St fF AIDS/HIV & 9
T 3R faar wifee 3K shad |t 9 wum aren
T fased IHT -

(a) TTH AR T-HfSmenell 1 S w9 el 2

(b) HIV faemoy &, 2 ¥99 ds RNAs 79] &
?

(c) AIDS &1 %held 84 ¥, TR g, Tol T
¥, = 5N B T

(d) T § AIDS & eI Tohe B & T ghen
U 99 < Bl B |

fopeq ;-

(1) %97 (b) 3R (d)

(2) FF (a), (b) 3 (d)

(3) A FH (b)

(4) B FI (d)

www.aviral.ac.in




147. Match the column I & II and choose the option | 147. 1= @fem [ 9 11 %1 faama &L 9 9 faeme 9+ foed
which has correct matching :- gsft gt fem 2 -
Column-I Column-IT HieH-I Hiaw-11
i | Flame cells a | Planaria i | e SRR | a | wrRer
ii | Nephridia b| Cockroach i | Rifen b| Hi=
iii | Malphigian tubules | c | Shark iii. | Herdtel e | c v
iv | Antennal glands d | Earthworm iv | e b d | sgem
v | Kidney e | Prawn v | e | 5ffm (uf)
(1) i-a, ii-c, iii-b, iv-d, v-e (1) i-a, ii-c, iii-b, iv-d, v-e
(2) i-a, ii-d, iii-b, iv-e, v-c (2) i-a, ii-d, iii-b, iv-e, v-c
(3) i-a, 1ii-b, iii-c, iv-d, v-e (3) i-a, ii-b, iii-c, iv-d, v-e
(4) i-a, ii-d, iii-c, iv-b, v-e (4) i-a, ii-d, iii-c, iv-b, v-e
148. Find out the incorrect statement :- 148. 3™ FYF h T B -
(1) Locomotion requires a perfect coordinated (1) T=re &g Ui, ewra a afrent 9= 1 901 3a
activity of muscular, nervous and skeletal system BT =Y,
(2) Passage of ova through the female reproductive (2) AT SFATAH 378l 1 i wemny TTfad g IR
tract is also facilitated by the ciliary movement. I S ©
(3) All movements are locomotions but all (3) 95 Tfqa g=rer e %"T{@ S g9 A
locomotions are not movements T B
(4) Macrophages and leucocytes in blood exhibit (4) ARIHS o1 FHIAES THiaTS A T
amoeboid movement. ]
149. Antherozoids of first archegoniate plants are - | 149. 9&9 Siter= qEdl & 9 & € :-
(1) Monoflagellate (1) T FHIMYH
(2) Biflagellate (2) fgshemtirn
(3) Non flagellate (3) AHIMYIH
(4) Multiflagellate (4) SgHIMYH
150. Identify the correct match from column I, Tand ME:- | 150. T L 1T R M # Tt faem =1 TEAIT -
Column 1 Column 11 Column III Column I Column II Column III
() |Nitrate  |(a) |[Nuclear  |(i) |Acid rain () |NO, (2) el [() |ereedr o
plants forea w==
(II) |Radioactive |(b) |Thermal  [(ii) |Ozone (I |Yfedr wfea |(b) |7 faga  |(ii) |sfsi
waste plants depletion TS A 3TqEA
(III) |CFC (c) |Farm lands |(iii) | Blue-baby (111) |CFC (c) | = (iii) .T(iaaﬁ Fub
syndrome
av [so, (@ |set plane  |iv) |cancer (IV) |80, @[Se=  [Gv) |[FF M
(1) T-a-iii, IT-b-ii, MI-d-iv, TV-c-i (1) I-a-iii, II-b-ii, IM-d-iv, IV-c-i
(2) II—b-i, I-C-iii, I]I-a-iv, IV-d-ii (2) II—b—i, I-C—iii, III—a—iv, IV-d-ii
(3) TMl-G-ii, T-c-iii, T-a-iv, IV-b-i i LR, L, Aleatar, TvSh
(4) T-a-i, T-b-iii, I-d-iv, TV-c-ii (4) I-a-i, II-b-ii, MI-d-iv, IV-c-ii
AVIRAL CLASSES . .
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151.

152.

153.

154.

155.

156.

Which of the following is used as quick referral
systems in taxanomical studies ?

(1) Keys (2) Herbarium

(3) Manuals (4) Monographs
Select the incorrect option about splicing ?

(1) It takes place with in nucleus in eukaryotes
(2) In this process introns are joined

(3) It takes place in cytoplasm in prokaryotes
(4) Both 2 and 3

Dihybrid maize plantis having genotype Ccli. In this
plant seed colour and seed shape genes are linked and
after test cross of this plant the ratio of parental and
new combination in offsprings is 18 : 2. What will
be the distance between the seed shape and seed colour
gene ?

(1) 4 centimorgon

(2) 5 centimorgon

(3) 10 centimorgon

(4) 20 centimorgon

A normal woman (whose father is colour blind but
mother is normal) marries a haemophilic man with
hyper trichosis. What percentage of progeny will
show genotypically any two of the traits out of the
three mentioned above at a given time :-

(1) 0%
(3) 50%

(2) 25%
(4) 75%

What s the percentage of photosynthetically active
radiation (PAR) in the incident solar radiation ?

(1) 100% (2) 50%
3) 1-5% (4) 2-10%

Incorrect about common cold is :-

(1) Common cold usually last for 3-7 days

(2) Characterised by nasal congestion and discharge

(3) It infects nose and respiratory passage
including lungs

(4) Droplet infection
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152,

153.

154.

155.

156.

frAferfad i afifert ereaae & foe denrer ggd
T ST AT E 2

(1) it (2) Teaftm

(3) Tram g (4) AFRTR

gueEd & aR H T HeF i gAY 2

(1) ghfEeE § a8 &5 | g gl

(2) 39 Ffeha & ENH 32 S8 9 B

(3) W fEeE | 98 HIfverge | & 7

(4) 2 3R 3 A

ek HereR| <Rl UGy TS ST o1 41 el oS ol Sregf
1 S Teer © 39 UeY Celi 1 IReqor g i
R Hafadl | Uges a9 T T&I0i BT ST 18 : 2
ST T T 39 UIY H SIS & LT a1 Sl i Amfa
H S I AT -

(1) 4 ¥=1 °9rfe

(2) 5 T= OrfA

(3) 10 9= 9

(4) 20 T= A

T T St (e faan gui=a 9 o 9= ®)

1 foame SmifRfean == f5m# hypertrichosis & 3
HTA W FoRat gftera gafwa # = aamn 8 39

TLIUN  S 9w fHer 2

(1) 0% (2) 25%

(3) 50% 4) 75%

arafad Hier fafeor & yerrmEyerst diwa fafsmo
(PAR) =1 gfawr fara=n €ran 2

(1) 100% (2) 50%

(3) 1-5% 4) 2-10%

YT M & R B I 91 HeF T T E -
(1) 9= Sm 94: 3-7 &9 7 @@ gl
(2) T Heherar AR THTE, 39 ATeTeT

(3) I 7 A BHS! Afed Ia9T ¥ P G
L B

(4) I FHA |
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157.

158.

159.

160.

161.

162.

Consider the following characters and choose the
option which have characters those are not present
in Aves :-

A- Scales on all over the body

B- Endoskeleton is fully ossified

C- Skin is dry without glands except some oil gland
D- Glands on body to feed their young ones
(1) A and C

(2) A, B and C

(3) Aand D

(4) B and C

Which one of the following is an example of
fibrous joint :-

(1) Between carpal and metacarpal

(2) Knee joint

(3) Between atlas and axis

(4) Sutures between skull bones

Pinnately compound leaves and plamately
compound leaves are found in :-

(1) Mango and Neem respectively

(2) Neem and Silk cotton respectively

(3) Silk cotton and Mango respectively

(4) Makoi and china rose respectively

Match the column I and column II :-

Column I Column II
(A) | Murrah (i) |Horse
(B) | Brown swiss | (ii) |Sheep
(C) | Kathiawari (iii) | Bufflo
(D) | Lohi (iv) | Cow
Options :

(1) A-i, B-ii, C-iii, D-iv

(2) A-iii, B-ii, C-i, D-iv

(3) A-iii, B-iv, C-i, D-ii

(4) A-ii, B-i, C-iv, D-iii

Which of the following are not sorrounded by any
membrane ?

(1) Nucleolus, Glyoxisome, and chromosome
(2) Ribosome, Nucleus, and Peroxisome

(3) Centriole, Ribosome and Nucleolus

(4) Chromosome, Ribosome and Sphaerosome
The organic nutrients in phloem undergo __ transport
(1) Unidirectional

(2) Bidirectional
(3) Only basipetal

(4) Only acropetal
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157.

158.

159.

160.

161.

162.

=1 @aroil w1 e 39 gU TH foshed &1 gA@
H Foad TR aeror & St aaft o § 98 urd S
¥

A- 70 IR W IeH
B-Tﬁ:mﬁzm

C- w1 5% Td UfY fed faame s ta ufad &
D- 39 Fasidi & 990 gg YRR 9wt
(HAaTC (2)A,BaC

(3) AdD 4)BaC

7 & ®F 1 WieR 9fY &1 W[/ ¢ -

(1) T4 o HTHTISA & HEA

(2) T HfY

(3) TEE 9 U & A

(4) U Aol & we e

fresrerR Tga aftal q9n geareh R Sge afaf a8
S & s -

(1) =\ agr iy

(2) = qen foew *fed

(3) T wied au1 3™

(4) T gl =T U

W [ a9 & 11 61 e S -

w1 w11
(A) |4 (i) |[her
(B) | o= femm (i) |9
(C) | wifcararet (iii) | %=
(D) | =it (iv) [T
faseq :

(1) A-i, B-ii, C-iii, D-iv

(2) Aiii, B-ii, C-i, D-iv

(3) A-iii, B-iv, C-i, D-ii

(4) A-ii, B-i, C-iv, D-iii

=1 & & & fret foreett & o 3T 761 @4 2
(1) f5a1, TomgeardEm iR TR
(2) e, ek SR ARERET
(3) TFHH=, Tearam iR ST
(4) U, TgEE iR THREH
FTe(TeR g vt divens § -

(1) T feemerss yarted e g |

(2) Tefemers warfea 2 2
(3) Had TeTE
(4) o TufErt
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163.

164.

165.

166.

167.

In Mirabilis plant tallness is dominant over dwarfness
while red flowers are incompletely dominant over
white flowers. A pure tall & red flowered plant is
crossed with dwarf & white flowered plant. What will
be the percentage probability of getting pink & white
flowered plants in F, generation ?

(1) 25% and 50%
(2) 50% and 25%
(3) 75% and 0%
(4) 50% and 0%

Shape of seed depends on starch granules size.
Inheritance of seed shape show ......... relationship
while inheritance of starch grains show ...........

(1) Dominant recessive, codominance
(2) Incomplete dominance, codominance
(3) Dominant - recessive, incomplete dominance

(4) Codominance, incomplete dominance

Which of the following statements is true about

regulators ?

(A) All birds and mammals and a very few lower
vertebrate and invertebrate species are regulators

(B) Bergmann's rule and Allen's rule is only
applicable to regulators

(C) The mechanisms used by most mammals to
regulate body temperature is similar to the
ones used by humans

(D) Regulators exclusively exhibit aestivation and

hibernation
{(1y4; B (2) AB.CD
(3) AB.C (4) AB,D

Narrowing and increasing height of peak in a
population distribution curve indicates :-

(1) More individuals aquire value other than mean
character value.

(2) More individuals aquire peripheral character
(3) More individuals aquire mean character value
(4) All of the above

Choose odd from the given examples :-

(1) Bombyx (2) Laccifer

(3) Locusta (4) Apis

2
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164.

165.

166.

167.

Mirabilis ¥ T99 A9 9 IO €9 § Frel
SeIfeR ST 50 ThE o1 OX STV &Y H YT ¢ |
TH IS A g ATe I59 a1l Urd HT SH 9 The
T AT § w9 e S R, @ F, e | e
T The ST Tt Hafadl & W @ 1 giae
IR @ B 2

(1) 25% 9 50%

(2) 50% & 25%

3) 75% T 0%

(4) 50% & 0%

ST k1 2R I Huil & SR W R H T

(1) FHTET- ST 9TET, |8 FHIfaa
(2) SFqof-grferar, TEgTfer
(3) T -STH e, STqul gerfad

(4) Tegafem, stqof genfaar
e # s 4w famsl & TR ga © 9

(A) Teft aft 3IR TR oIk aga 92 | e et
3R S THIEH! S AT B B

(B) 1AM =1 1w &R e &1 faw faw famen
T AN B T

(C) siftrreR TaenfEl g0 o9 IRIX & qaHH i
frafg 1 & fearfafy 9t & & St 7
3T B

(D) Shaet Frames & it ik dsaffiram
weffa # g1

(1) A, B
3) ABC

e fet sHEE faao & e § Rer it S

¢ W AR Th 2 5T O I8 Wh =1 T hiell & o

(1) SAHHTH T L T T o STera o A&
T80 TR T,

(2) AR Tt ufdiT Te O 1 TR R T B

(3) SAfeehe TRt TEA SH&TOl W shi U8 Y 1§ §

(4) SURer gt

(2) A,B,C,D
(4) A.B,.D

= STl # ¥ 90d 1 g9 HL -
(1) iy (2) THHT
(3) cHFaeT (4) TTg
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168. Anatomical boundaries of thoracic cavity are :-

169.

170.

171

172.

173.

DORSAL | VENTRAL | LATERAL

Vertebral | Sternum Ribs

column

Vertebral Ribs Sternum

column

Sternum Vertebral Ribs
column

Ribs Vertebral Sternum
column

Which of the following is not correct for potato
family ?

(1) Ovary superior

(2) Seed endospermic
(3) Fruit legume

(4) Stamen epipetalous

Which characters of maize plant provide resistant
to 'Maize stem borer' pest :-

(1) High aspartic acid
(2) Low nitrogen content
(3) Low sugar content
(4) All the above

In which of the following phases each chromosome
is made up of two chromatids ?

(1) Prophase, Metaphase-II
(2) Prophase, Anaphase-II
(3) Telophase, Anaphase-I
(4) Metaphase, Anaphase

Mycorrhiza is a symbiotc association which helps in:-
(1) Sucrose absorption (2) water absorption
(3) Minerals absorption (4) Both 2 and 3

In cross between yellow round (Y YRR) seeded plant
with pure breeding pea plants having green wrinkled
(yyrr) seed then find out the total seeds (plants)
having yellow colour in F,-generation :-

(1) 12 (2) 10 (3) 14 4) 11
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170.

171.

172.

173.

J&7 el H1 AR T ¥

Is Y qreel
| [=9ws |SOft Toferan

Re
2 | s il | Uty

e
3 | sfea weed | gafeEr

1
4 | ggfeaf wIEF | ey
e

3] £ & fordl wd 19 § 2
(1) STUSHE SHeatadr
(2) STt yoTdrst
(3) e °FgH
(4) g AT
TFRT % TIEY & Y TN SH THERT o T S
frew & ufq gfediywd 9gH +3 © ;-
(1) 3=3 TeaTidan 3T
(2) Fr=1 “TTEee w2
(3) F=1 w0 =
(4) 3uEa qeft
= # ¥ &9 $F O el § ® U & o
SEOES B € ?
(1) qartersen, HeATerEey-1I
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When a pea plant with intermediate sized starch
grain in seed is crossed with other plant having
small sized starch grain in seed, the total number
of seeds obtained in progeny is 630. What is
correct for this progeny ?

(1) 330 (large size), 330 (small size)
(2) 330 (small size), 660 (medium size)
(3) 315 (intermediate size), 315 (small size)

(4)158 (large size), 158 (small
314 (intermediate size)

size),

What is the common characteristic feature between
predation, parasitism and commensalism ?

(1) At least one interacting species is harmed
(2) Interacting species live closely together

(3) Highly specific
(4) Evolved in all taxanomic groups

Match column-A with column-B :-

Column-A Column-B
i | Dorsal sclerite |a | Gonapophysis
ii | Ventral sclerite | b | Fore wing
iii | Phallomere ¢ | Tergites
iv | Tegmina d | Sternite
(1)i-a ii-b iii-c iv-d
(2) i-b ii-c iii-a iv-d
(3) i-d ii-a iii-c iv-b
(4) i-c ii-d iii-a iv-b

Out of these how many statements are incorrect :
A-Incyclostomatacirculatory system is of open type.
B- Operculum is absent in scoliodon

C- Rana and Pavo belongs to same superclass
D- Fertilization is internal in Hyla

(1) One (2) Two (3) Three (4) Four

Every 100ml of Deoxygenated blood delivers
approximately of CO, to alveoli :-

(1) 4ml (2) 40ml (3) 15ml 4)19.6ml
Which of the following is present in Nucleoside:-
(1) Pentose sugar, Nitrogenous base

(2) Pentose sugar

(3) Nitrogenous base

(4) Pentose sugar, Phosphate

'Pomato’ is developed by which tissue culture
method :-

(1) Meristem culture
(3) Anther culture

(2) Embryo culture
(4) Somatic hybridisation
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